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Step 1: Rewrite usin? negative exponents
Fecall that =" = —, =o
:Er
3 = 3 - 2167
216-s
1 3
= 2b6G+
25674
2 - = 2. 243°
24375
Thus the expression becomes:
3-216% + 2567 4+ 2.243°

Step 2: Simplify each part

=  First term:

—

216 = 6°

= 3-.216% =3 x 36 =[108]

=  Second term:

256 = 28 —
#+  Third term:
43=3 =

= 2-243° =2 x 3 =[6]

Step 3: Add them all together

108 +64+6

2437 = (3")7 =3

=|[178

2167 = (6°)F = 6> = 36

e

25671 = (2%)7 = 2% =64
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(i) 2420 + 86 — 27 + 1842 abe
Rewrite as (v/2a)* + (2b)* + (—3e)* — 3(+/2a)(2b)(—3e).
Use A= +2a, B=2bh, O =—3cin 4+ B* + C* — 34ABC:

(V2a + 2b — 3¢) (2a° + 46° + 9¢* — 2v/2 ab + Gbe + 3v2ac).
i) a* — & + 1+ 3ab

Groupasa® + 1* + (—b)* —3a-1-(-b).
Used=a, B=1, C=—-binA* + B* + C° —3ABC:

(a+1-b)(a®*+1+b" —a+ab—b) =(a—b+1)(a* +b"+1—a+b+ab).

End
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